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LINEAR INEQUALITIES

1. Solve 302 < 200 when

(i)  is a natural number.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RlSXqSUMvmXF

(i) z is an integer.

° Watch Video Solution

2.Solve b — 3 < 3z + 1 when
(i) x Is an integer

(ii) x is a real number.

° Watch Video Solution

3.Solvedx +3 < 6 + 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_RlSXqSUMvmXF
https://dl.doubtnut.com/l/_qO9uVE53LtTW
https://dl.doubtnut.com/l/_auTbboOc9KU9

5 — 2x
<

T
4. Sol — — 5.
olve — 5

° Watch Video Solution

5. Solve 7Tz + 3 < 5z + 9. Show the graph of

the solutions on number line.

° Watch Video Solution

3z — 4 > z +1

6. Sol
olve —

— 1. Show the graph

of the solutions on number line.


https://dl.doubtnut.com/l/_auTbboOc9KU9
https://dl.doubtnut.com/l/_Sr3kr9Qh2ErK
https://dl.doubtnut.com/l/_kBXVNZ5SM7IE
https://dl.doubtnut.com/l/_jpptqbpnturo

o Watch Video Solution

7.The marks obtained by a student of Class Xl in
first and second terminal examination are 62
and 48, respectively. Find the minimum marks he
should get in the annual examination to have an

average of at least 60 marks.

° Watch Video Solution

8. Find all pairs of consecutive odd natural

numbers, both of which are larger than 10, such


https://dl.doubtnut.com/l/_jpptqbpnturo
https://dl.doubtnut.com/l/_DQiNxAtrDO9O
https://dl.doubtnut.com/l/_9tBfaFA3jF7m

that their sum is less than 40.

° Watch Video Solution

9.Solve 3z 4 2y > 6 graphically.

° Watch Video Solution

10. Solve 3z — 6 =0 graphically in

dimensional plane.

two

° Watch Video Solution



https://dl.doubtnut.com/l/_9tBfaFA3jF7m
https://dl.doubtnut.com/l/_HNj000i4r6ce
https://dl.doubtnut.com/l/_Bx16Sg809mj0
https://dl.doubtnut.com/l/_hfUwTsYoakxy

11. Solve y < 2 graphically.

° Watch Video Solution

12. Solve the following system of linear
inequalities graphically.
r+y>5 ...(1)

r—y<3 ...(2)

0 Watch Video Solution



https://dl.doubtnut.com/l/_hfUwTsYoakxy
https://dl.doubtnut.com/l/_WiGfNy04uUjH

13. Solve the following system of inequalities

graphically

br + 4y < 40 ...(1)
Tz > 2 (2)

y =3 (3)

° Watch Video Solution

14. Solve the following system of inequalities
8z + 3y < 100 ...(1)

x>0 ...(2)



https://dl.doubtnut.com/l/_T2CEsxiZadUK
https://dl.doubtnut.com/l/_Jl4lhE9DvsQS

° Watch Video Solution

15. Solve the following system of inequalities

graphically

xr+ 2y <8 ...(1)
2z +y < 8 ...(2)
z >0 (3)
y=>0 (4)

° Watch Video Solution

16.Solve —8 < bxr — 3 < 7.


https://dl.doubtnut.com/l/_Jl4lhE9DvsQS
https://dl.doubtnut.com/l/_SGU5eDtxjCHn
https://dl.doubtnut.com/l/_isAgbfRNDzGm

° Watch Video Solution

5 —3x
< 8.

17.Solve — 5 <

° Watch Video Solution

18. Solve the system of inequalities:
3r —T<b+=x ...(1)

11— 5z < 1 ..(2)

° Watch Video Solution



https://dl.doubtnut.com/l/_isAgbfRNDzGm
https://dl.doubtnut.com/l/_aX14IIfqlSvH
https://dl.doubtnut.com/l/_QNJYMpATGQbA
https://dl.doubtnut.com/l/_23MWFqDWzxTC

19. In an experiment, a solution of hydrochloric

acid is to be kept between 30° and 35° Celsius.

What is the range of temperature in degree

Fahrenheit if conversion formula is given by
s}

C = §(F—32), where C and F represent

temperature in degree Celsius and degree

Fahrenheit, respectively.

° Watch Video Solution

20. A manufacturer has 600 litres of a 12%
solution of acid. How many litres of a 30% acid

solution must be added to it so that acid


https://dl.doubtnut.com/l/_23MWFqDWzxTC
https://dl.doubtnut.com/l/_ikftsWf4XyDG

content in the resulting mixture will be more

than 15% but less than 18%?

° Watch Video Solution

1. Solve 24x < 100, when

(i) x is a natural number,

(i) x Is an integer.

° Watch Video Solution



https://dl.doubtnut.com/l/_ikftsWf4XyDG
https://dl.doubtnut.com/l/_i8UPc9As14RG
https://dl.doubtnut.com/l/_ZWahmbRtmsTH

2.Solve —12x > 30, when
(i) x is a natural number.

(i) x Is an integer.

° Watch Video Solution

3.Solve bx — 3 < 7, when
(i) x Is an integer.

(ii) x is a real number.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZWahmbRtmsTH
https://dl.doubtnut.com/l/_Jsaq48PxqiFz

4.Solve 3z + 8 > 2, when
(i) x is an integer.

(ii) x is a real number.

° Watch Video Solution

Exercise 6 1 Solve The Inequalities In Exercises 5 To

16 For Real X

14 +3 < bx + 7

O Watch Video Solution



https://dl.doubtnut.com/l/_kdKT15EPC4eS
https://dl.doubtnut.com/l/_iYHmMVSsE4pr

2.3x —7>bx —1

0 Watch Video Solution

3.3(x — 1) < 2(x — 3)

° Watch Video Solution

4.32—z) > 2(1 —x)

° Watch Video Solution



https://dl.doubtnut.com/l/_IwSzlAlmwU8R
https://dl.doubtnut.com/l/_EGE7OXjM4GC0
https://dl.doubtnut.com/l/_n2NPwC2IazWH
https://dl.doubtnut.com/l/_VvP0DgTKNoxU

T T
5. — 4+ — 11
:1:+2—|—3<

° Watch Video Solution

6. x/3>x/2+1

° Watch Video Solution

3(x—2) 5(2-—=x)

7. <
5 - 3

° Watch Video Solution



https://dl.doubtnut.com/l/_VvP0DgTKNoxU
https://dl.doubtnut.com/l/_M2ssBZtK1wQe
https://dl.doubtnut.com/l/_04pMxG4Ln9UB

8.1(%% 14)> tz—6
2\F ) =3l

° Watch Video Solution

9.2(2z + 3) — 10 < 6(x — 2)

° Watch Video Solution

10.37 — (3z + 5) > 9x — 8(x — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_qjDpcHt92cwn
https://dl.doubtnut.com/l/_depNeLXtxED2
https://dl.doubtnut.com/l/_F00vTi5Ni2jz
https://dl.doubtnut.com/l/_VCOk4Utvey48

11.Z < - —

° Watch Video Solution

(2z — 1) - (3z — 2) B (2 —x)

12.
3 - 1 5

° Watch Video Solution

Exercise 6 1 Solve The Inequalities In Exercises 17 To
20 And Show The Graph Of The Solution In Each

Case On Number Line



https://dl.doubtnut.com/l/_VCOk4Utvey48
https://dl.doubtnut.com/l/_sXTxA7ftMKmD

1.3 — 2 < 2z +1

0 Watch Video Solution

2.5 —3>3x — 5

° Watch Video Solution

3.3(1 —z) < 2(x + 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_54iG3TkGkdJX
https://dl.doubtnut.com/l/_rk771UaTVpZs
https://dl.doubtnut.com/l/_bYTXJaOgVfUi
https://dl.doubtnut.com/l/_6xIPavOFWkxG

4.£> (558—2) B (7%-3)
2 3 5

° Watch Video Solution

5. Ravi obtained 70 and 75 marks in first two unit
test. Find the minimum marks he should get in
the third test to have an average of at least 60

marks.

° Watch Video Solution



https://dl.doubtnut.com/l/_6xIPavOFWkxG
https://dl.doubtnut.com/l/_FiTohMxAVRNp

6. To receive Grade ‘A in a course, one must
obtain an average of 90 marks or more in five
examinations (each of 100 marks). If Sunita’s
marks in first four examinations are 87, 92, 94
and 95, find minimum marks that Sunita must
obtain in fifth examination to get grade ‘A’ in the

course.

o Watch Video Solution

7. Find all pairs of consecutive odd positive

integers both of which are smaller than 10 such


https://dl.doubtnut.com/l/_y79Eq6aGA4MD
https://dl.doubtnut.com/l/_7Z7oLKDwkYgt

that their sum is more than 11.

o Watch Video Solution

8. Find all pairs of consecutive even positive
integers, both of which are larger than 5 such

that their sum is less than 23.

o Watch Video Solution

9. The longest side of a triangle is 3 times the

shortest side and the third side is 2 cm shorter


https://dl.doubtnut.com/l/_7Z7oLKDwkYgt
https://dl.doubtnut.com/l/_QAHBx19bojUn
https://dl.doubtnut.com/l/_epL9cwhGxn61

than the longest side. If the perimeter of the
triangle is at least 61 cm, find the minimum

length of the shortest side.

o Watch Video Solution

10. A man wants to cut three lengths from a
single piece of board of length 91 cm. The
second length is to be 3cm longer than the
shortest and the third length is to The second
length is to be 3cm longer than the shortest

and the third length is to board if the third


https://dl.doubtnut.com/l/_epL9cwhGxn61
https://dl.doubtnut.com/l/_qC4Q6HmcfS2q

piece is to be at least 5cm longer than the

second?

° Watch Video Solution

Exercise 6 2 Solve The Following Inequalities

Graphically In Two Dimensional Plane

1. Represent graphically:

zT+y<9d

° Watch Video Solution



https://dl.doubtnut.com/l/_qC4Q6HmcfS2q
https://dl.doubtnut.com/l/_4ZVQfZZXSLY7
https://dl.doubtnut.com/l/_QYjq7UFi5rmp

2. Represent graphically:

2r +y > 6

° Watch Video Solution

3. Represent graphically:

3z + 4y < 12

° Watch Video Solution

4.Represent graphically:

y+8 =2

| o


https://dl.doubtnut.com/l/_QYjq7UFi5rmp
https://dl.doubtnut.com/l/_IosNakDgqcHh
https://dl.doubtnut.com/l/_uK8j70K24IZn

[ & Watch Video Solution

5. Represent graphically:

x—y< 2

° Watch Video Solution

6. Represent graphically:

2r — 3y < 6

0 Watch Video Solution



https://dl.doubtnut.com/l/_uK8j70K24IZn
https://dl.doubtnut.com/l/_ntuvzy3LsEzH
https://dl.doubtnut.com/l/_x7cPt2V0F2oE

7.Represent graphically:

—3r+2y> —6

° Watch Video Solution

8. Represent graphically:

3y — dxr < 30

° Watch Video Solution

9. Represent graphically:

y< —2


https://dl.doubtnut.com/l/_EZZgnxvF3LXq
https://dl.doubtnut.com/l/_UXBwi5Q9yNne
https://dl.doubtnut.com/l/_X4echkVAdtEO

° Watch Video Solution

10. Represent graphically:

x> — 3.

° Watch Video Solution

Exercise 6 3 Solve The Following System Of

Inequalities Graphically

1. Represent graphically:

r >3,y =2


https://dl.doubtnut.com/l/_X4echkVAdtEO
https://dl.doubtnut.com/l/_EziLgdK1RRe3
https://dl.doubtnut.com/l/_Be0jANxyjgUl

° Watch Video Solution

2.3 + 2y <12, > 1,y > 2

° Watch Video Solution

3.2 +y > 6,3z + 4y < 12

° Watch Video Solution



https://dl.doubtnut.com/l/_Be0jANxyjgUl
https://dl.doubtnut.com/l/_7jJFx0ndGgun
https://dl.doubtnut.com/l/_IGGzn7rDseGT

4. Represent graphically

$+y24,2$—y§0,$,y20

° Watch Video Solution

5. Represent graphically:

20 —y> 1,z — 2y < —1

° Watch Video Solution

6. Represent graphically:

x+y<6,x+y>14


https://dl.doubtnut.com/l/_NuRoRH8Pt6ap
https://dl.doubtnut.com/l/_U2Oq6i6Rrbg5
https://dl.doubtnut.com/l/_5H2taxrqr0p3

° Watch Video Solution

7.Represent graphically:

2z +y > 8,z + 2y > 10

° Watch Video Solution

8. Represent graphically:

r+y<9y=>zz,y=>0

° Watch Video Solution



https://dl.doubtnut.com/l/_5H2taxrqr0p3
https://dl.doubtnut.com/l/_O4L1l0xuLvcb
https://dl.doubtnut.com/l/_e6UeL0WlpgJL
https://dl.doubtnut.com/l/_cnCRgD8o3jIC

9. Represent graphically:

br +4y <20,z > 1,y > 2

0 Watch Video Solution

10.3z + 4y < 60,z + 3y < 30,z > 0,y > 0

° Watch Video Solution

Nazx+y>4,x+y<3,2r—3y>6

° Watch Video Solution



https://dl.doubtnut.com/l/_cnCRgD8o3jIC
https://dl.doubtnut.com/l/_JDWsQwWqLs4a
https://dl.doubtnut.com/l/_uLepDPKICFHp
https://dl.doubtnut.com/l/_ZfDRwGK90X9k

1. —2y<3,3x+4y>12,z > 0,y > 1

° Watch Video Solution

1B.4dx + 3y <60,y > 2x, 2 > 3,xz,y >0

° Watch Video Solution

14.

3r +2y > 150,z +4y < 80,x <15,y >0,z > 0

0 Watch Video Solution



https://dl.doubtnut.com/l/_ZfDRwGK90X9k
https://dl.doubtnut.com/l/_RjKvofsofBNb
https://dl.doubtnut.com/l/_3JxEd6wlqz9U

15. Represent graphically

r+2y<10,z4+y>1,2z+y<2,2>0,y>0

° Watch Video Solution

Exercise Miscellaneous Exercise On Chapter 6 Solve

The Inequalities In Exercises 1 To 6

1.2<3x—-4<5

° Watch Video Solution



https://dl.doubtnut.com/l/_5s2GXpzFQbG2
https://dl.doubtnut.com/l/_I2hIoJuYnSlk

2.6 < —3(2z —4) < 12

° Watch Video Solution

4 — (3z)
3.-3< _—5 < 2

o Watch Video Solution

T
4, -14 < —— <0

° Watch Video Solution



https://dl.doubtnut.com/l/_qaYIcia8cQOU
https://dl.doubtnut.com/l/_L32VcJ4goZbG
https://dl.doubtnut.com/l/_9XYqz1EHeHKi
https://dl.doubtnut.com/l/_b059ErJeIO2y

3
5.—12<4—_—5 < 2

° Watch Video Solution

(3z + 11)
6.7 < 5 <11

° Watch Video Solution

Exercise Miscellaneous Exercise On Chapter 6 Solve

The Inequalities In Exercises 7 To 10 And Represent

The Solution Graphically On Number



https://dl.doubtnut.com/l/_b059ErJeIO2y
https://dl.doubtnut.com/l/_7Nu6O8XHMz2j

1.5z +1> — 24 50— 1< 24

° Watch Video Solution

22z —-1)<z+53(z+2) >2—=

° Watch Video Solution

3.3x —7>2(x—6),6 —z > 11 — 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_bJ036psbO9la
https://dl.doubtnut.com/l/_MiVgY0UVRD5h
https://dl.doubtnut.com/l/_irxZi8q0bsdH
https://dl.doubtnut.com/l/_xeC5CzEJfAny

4.

5122 — 7) — 3(2x +4) < 0,2z + 19 < 6z + 47

O Watch Video Solution

Exercise Miscellaneous Exercise On Chapter 6

1. A solution is to be kept between 68° F and 77°
F. What is the range in temperature in degree

Celsius (C) if the Celsius / Fahrenheit (F)


https://dl.doubtnut.com/l/_xeC5CzEJfAny
https://dl.doubtnut.com/l/_GjB3CwjadDbq

conversion formula is given by

9
F:€C+32?

° Watch Video Solution

2. A solution of 8% boric acid is to be diluted by
adding a 2% boric acid solution to it. The
resulting mixture is to be more than 4% but less
than 6% boric acid. If we have 640 litres of the
8% solution, how many litres of the 2% solution

will have to be added?

° Watch Video Solution



https://dl.doubtnut.com/l/_GjB3CwjadDbq
https://dl.doubtnut.com/l/_5lU8oyIeFvJD

3. How many litres of water will have to be
added to 1125 litres of the 45% solution of acid
so that the resulting mixture will contain more

than 25% but less than 30% acid content?

° Watch Video Solution

4.1Q of a person is given by the formula

MA
1) = x 100,

CA
where MA is mental age and CA is chronological

age. If 80 < IQ) < 140 for a group of 12 years

old children, find the range of their mental age.


https://dl.doubtnut.com/l/_g3PVgNzCKByE
https://dl.doubtnut.com/l/_lvKIvXyWKP8p

o Watch Video Solution



https://dl.doubtnut.com/l/_lvKIvXyWKP8p

